
2025/08/01 17:02 1/1 GM5X5X5 Part list

MIDIbox - http://wiki.midibox.org/

==== MB-6582 CS Parts List ====

Part Name Quantity Notes Supplier 1 Supplier 2
Pactec PT-10 1 See Note 1 Mouser Pactec
25mm M3 Countersunk Head Bolt 4 See Note 2
M3 Nut 8 See Note 2 Mouser
M3 Flat Washer 8 See Note 2 Mouser
M3 Spring Washer 8 See Note 2 Mouser
10mm M3 Threaded Spacer 25 See Note 3 Mouser
6mm M3 Screws 25 See Note 3 Mouser
M3 Spring Washers 25 See Note 3 Mouser
JB Weld 1 See Note 4 Mouser
13mm Tactile Switches (Alps) 48 See Note 5 Mouser
4×20 Character LCD 1 See Note 6/7 CrystalFontz Divineo (Cheap!)
3mm LEDs 113 See Note 8 Mouser (Red) SmashTV
1N4148 Signal Diodes 50 See Note Mouser Voti.nl
Rotary Encoders 15 See Note 9 Mouser Voti.nl (Cheaper)
Knobs (Such as Albs) 15 See Note 10 Albs.de Check Forum Bulk Orders
40mm Fan (Optional) 1 See Note Mouser Performance PC's
Front Panel & Back Panel 1 See Note Schaeffer Check Forum

Part list / BOM

Part Value Count Footprint/
lead spacing Part #

From:
http://wiki.midibox.org/ - MIDIbox

Permanent link:
http://wiki.midibox.org/doku.php?id=smithy&rev=1265221196

Last update: 2010/02/03 18:19

http://www.mouser.com/ProductDetail/PacTec/82404-510-000-PT-10-BLACK-Kit/?qs=Z9cUvWiPQVClPaLgeq0TiA%3d%3d
http://www.pactecenclosures.com/Plastic-Enclosures/PT-10.html
http://wiki.midibox.org/doku.php?id=www
http://wiki.midibox.org/doku.php?id=www
http://wiki.midibox.org/doku.php?id=www
http://ie.mouser.com/Search/ProductDetail.aspx?R=R30-1001002virtualkey57420000virtualkey855-R30-1001002
http://www.mouser.com/Search/ProductDetail.aspx?R=29311virtualkey53400000virtualkey534-29311
http://wiki.midibox.org/doku.php?id=www
http://wiki.midibox.org/doku.php?id=www
http://www.mouser.com/Search/ProductDetail.aspx?R=SKHHDTA010virtualkey68800000virtualkey688-SKHHDT
http://www.crystalfontz.com/products/2004a/index.html
http://www.divineo.com/cgi-bin/div-us/zz-xb-lcdxx
https://www.mouser.com/Search/ProductDetail.aspx?R=WP7104HDvirtualkey60400000virtualkey604-WP7104HD
http://avishowtech.com/mbhp/buy.html
http://ie.mouser.com/Search/ProductDetail.aspx?R=1N4148_T50Avirtualkey51210000virtualkey512-1N4148T50A
http://www.voti.nl/shop/p/DIODE-1N4148-10.html
http://www.mouser.com/Search/ProductDetail.aspx?R=RE160F-40E3-20A-24Pvirtualkey14860000virtualkey318-ENC160F-24P.
http://www.voti.nl/shop/p/SW-ROT-01.html
http://www.albs.de/
http://ie.mouser.com/Search/ProductDetail.aspx?R=AD0405DB-G70-LFvirtualkey66400000virtualkey664-AD0405DB-G70-LF
http://www.performance-pcs.com/catalog/index.php
http://www.schaeffer-ag.de/
http://wiki.midibox.org/
http://wiki.midibox.org/doku.php?id=smithy&rev=1265221196

	[Part list / BOM]
	[Part list / BOM]
	Part list / BOM



